JACANA GLEN PTY LTD

03 March 2022

The Manager
Market Announcements Office
ASX Limited
By email: MAOGROUP@ASX.COM.AU

Dear Sir/Madam,

JCurve Solutions Limited ACN 088 257 729 (ASX: JCS) Notice of Initial substantial holder (Form 603)

In accordance with section 671B of the Corporations Act 2001 (Cth), please find attached a Form 603 in relation to shares in JCurve Solutions Limited ACN 088 257 729 (ASX: JCS), lodged on behalf of the Larking Super Fund.

Yours faithfully,

John Larking Director



603

Corporations Act 2001 Section 671B

Form 603

Notice of initial substantial holder

To Company Name/Scheme	JCURVE SOLUTIONS LIMITED
ACN/ARSN	088 257 729
1. Details of substantial holder (1)	JACANA GLEN PTY LTD <larking 2="" a="" c="" fund="" no="" super=""></larking>
ACN/ARSN (if applicable)	
The holder became a substantial holder	on 14 / 10 / 21

2. Details of voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate (2) had a relevant interest (3) in on the date the substantial holder became a substantial holder are as follows:

Class of securities (4)	Number of securities	Person's votes (5)	Voting power (6)
ORDINARY SHARES	18,534,001	18,534,001	5.6%

3. Details of relevant interests

The nature of the relevant interest the substantial holder or an associate had in the following voting securities on the date the substantial holder became a substantial holder are as follows:

Holder of relevant interest	Nature of relevant interest (7)	Class and number of securities
LARKING SUPER FUND	DIRECT	FPO 18,534,001

4. Details of present registered holders

The persons registered as holders of the securities referred to in paragraph 3 above are as follows:

Holder of relevant interest	Registered holder of securities	Person entitled to be registered as holder (8)	Class and number of securities
SEE APPENDIX 1			

5. Consideration

The consideration paid for each relevant interest referred to in paragraph 3 above, and acquired in the four months prior to the day that the substantial holder became a substantial holder is as follows:

Holder of relevant interest	Date of acquisition	Consideratio	n (9)	Class and number of securities
		Cash	Non-cash	
SEE APPENDIX 1				

6. Associates

The reasons the persons named in paragraph 3 above are associates of the substantial holder are as follows:

Name and ACN/ARSN (if applicable)	Nature of association
N/A	

7. Addresses

The addresses of persons named in this form are as follows:

Name	Address
LARKING SUPER FUND	406/315 BEACONSFIELD PARADE ST KILDA WEST VIC 3182

Signature

print name JOHN LARKING

capacity DIRECTOR OF TRUSTEE

sign here

date 02 / 03 / 2022

DIRECTIONS

- (1) If there are a number of substantial holders with similar or related relevant interests (eg. a corporation and its related corporations, or the manager and trustee of an equity trust), the names could be included in an annexure to the form. If the relevant interests of a group of persons are essentially similar, they may be referred to throughout the form as a specifically named group if the membership of each group, with the names and addresses of members is clearly set out in paragraph 7 of the form.
- (2) See the definition of "associate" in section 9 of the Corporations Act 2001.
- (3) See the definition of "relevant interest" in sections 608 and 671B(7) of the Corporations Act 2001.
- (4) The voting shares of a company constitute one class unless divided into separate classes.
- (5) The total number of votes attached to all the voting shares in the company or voting interests in the scheme (if any) that the person or an associate has a relevant interest in.
- (6) The person's votes divided by the total votes in the body corporate or scheme multiplied by 100.
- (7) Include details of:
 - (a) any relevant agreement or other circumstances by which the relevant interest was acquired. If subsection 671B(4) applies, a copy of any document setting out the terms of any relevant agreement, and a statement by the person giving full and accurate details of any contract, scheme or arrangement, must accompany this form, together with a written statement certifying this contract, scheme or arrangement; and
 - (b) any qualification of the power of a person to exercise, control the exercise of, or influence the exercise of, the voting powers or disposal of the securities to which the relevant interest relates (indicating clearly the particular securities to which the qualification applies).

See the definition of "relevant agreement" in section 9 of the Corporations Act 2001.

- (8) If the substantial holder is unable to determine the identity of the person (eg. if the relevant interest arises because of an option) write "unknown".
- (9) Details of the consideration must include any and all benefits, money and other, that any person from whom a relevant interest was acquired has, or may, become entitled to receive in relation to that acquisition. Details must be included even if the benefit is conditional on the happening or not of a contingency. Details must be included of any benefit paid on behalf of the substantial holder or its associate in relation to the acquisitions, even if they are not paid directly to the person from whom the relevant interest was acquired.

Date	Type	Units	Security Description	Unit Price	Consideration	Total Unit Holding
2/03/2022	Buy	1,172,675	JCURVE SOLUTIONS	0.060	69,836.31	18,534,001
23/11/2021	Buy	1,000,000	JCURVE SOLUTIONS LTD	0.062	62,000.00	17,361,326
14/10/2021	Buy	182,051	JCURVE SOLUTIONS LTD	0.060	10,923.06	16,361,326
4/10/2021	Buy	700,668	JCURVE SOLUTIONS LTD	0.058	40,488.10	16,179,275
6/09/2021	Buy	478,607	JCURVE SOLUTIONS LTD	0.061	29,195.03	15,478,607
16/08/2021	Buy	663,330	JCURVE SOLUTIONS	0.060	39,799.80	15,000,000
16/06/2021 7/06/2021	Buy	589,983	JCURVE SOLUTIONS	0.060	35,398.98	14,336,670
18/03/2021	Buy	246,687	JCURVE SOLUTIONS LTD JCURVE SOLUTIONS	0.059	14,554.53	13,746,687
9/02/2021	Buy	500,000	LTD JCURVE SOLUTIONS	0.062	31,000.00	13,500,000
14/01/2021	Buy	672,748	LTD JCURVE SOLUTIONS	0.040	26,923.37	13,000,000
13/01/2021	Buy	500,000	LTD JCURVE SOLUTIONS	0.033	16,500.00	12,327,252
18/09/2020	Buy	240,000	LTD JCURVE SOLUTIONS	0.033	7,920.00	11,827,252
24/08/2020	Buy	500,000	LTD JCURVE SOLUTIONS	0.034	16,782.50	11,587,252
30/07/2020	Buy	587,252	LTD JCURVE SOLUTIONS	0.034	19,966.57	11,087,252
16/06/2020	Buy	500,000	JCURVE SOLUTIONS	0.032	16,000.00	10,500,000
3/06/2020	Buy	250,000 300,000	LTD JCURVE SOLUTIONS LTD	0.035	8,750.00	10,000,000
25/05/2020	Buy	200,000	JCURVE SOLUTIONS	0.031	9,300.00	9,750,000
5/05/2020	Buy	229,900	JCURVE SOLUTIONS	0.032	6,897.00	9,250,000
4/05/2020	Buy	20,100	JCURVE SOLUTIONS	0.029	582.90	9,020,100
1/04/2020	Buy	1,500	JCURVE SOLUTIONS LTD	0.023	34.50	9,000,000
31/03/2020	Buy	498,500	JCURVE SOLUTIONS LTD	0.023	11,465.50	8,998,500
19/03/2020	Buy	500,000	JCURVE SOLUTIONS LTD	0.024	12,000.00	8,500,000
13/03/2020	Buy	6,667	JCURVE SOLUTIONS LTD	0.031	206.68	8,000,000
12/03/2020	Buy	493,333	JCURVE SOLUTIONS LTD	0.031	15,293.32	7,993,333
6/03/2020	Buy	500,000	JCURVE SOLUTIONS LTD	0.037	18,523.50	7,500,000
11/02/2020	Buy	500,000	JCURVE SOLUTIONS LTD	0.030	15,128.00	7,000,000
18/12/2018	Buy	500,000	JCURVE SOLUTIONS LTD	0.043	21,500.00	6,500,000

Appendix 1

28/08/2018	Buy	470.000	JCURVE SOLUTIONS	0.054	0.070.00	0.000.000
		170,000	LTD	0.051	8,673.06	6,000,000
17/08/2018	Buy	330,000	JCURVE SOLUTIONS LTD	0.041	13,530.00	5,830,000
19/06/2018	Buy	16,505	JCURVE SOLUTIONS LTD	0.033	544.67	5,500,000
18/06/2018	Buy	55,995	JCURVE SOLUTIONS	0.033	1,847.84	5,483,495
15/06/2018	Buy	27,500	JCURVE SOLUTIONS	0.033	907.50	5,427,500
14/06/2018	Buy	108,435	JCURVE SOLUTIONS	0.032	3,492.37	5,400,000
13/06/2018	Buy	30,000	JCURVE SOLUTIONS	0.032	960.00	5,291,565
12/06/2018	Buy		JCURVE SOLUTIONS			
11/04/2018	Buy	261,565	JCURVE SOLUTIONS	0.032	8,370.08	5,261,565
5/04/2018	Buy	286,000	LTD JCURVE SOLUTIONS	0.032	9,081.36	5,000,000
3/04/2018	Buy	260,000	LTD JCURVE SOLUTIONS	0.033	8,517.60	4,714,000
20/03/2018	Buy	54,000	LTD JCURVE SOLUTIONS	0.031	1,683.45	4,454,000
15/03/2018		400,000	LTD JCURVE SOLUTIONS	0.035	14,000.00	4,400,000
	Buy	61,346	LTD	0.038	2,331.15	4,000,000
13/03/2018	Buy	138,654	JCURVE SOLUTIONS LTD	0.038	5,268.85	3,938,654
1/03/2018	Buy	75,123	JCURVE SOLUTIONS LTD	0.039	2,929.80	3,800,000
23/02/2018	Buy	424,877	JCURVE SOLUTIONS	0.039	16,570.20	3,724,877
9/02/2018	Buy	300,000	JCURVE SOLUTIONS LTD	0.043	12,839.10	3,300,000
22/01/2018	Buy	200,000	JCURVE SOLUTIONS	0.045	8,949.60	3,000,000
12/01/2018	Buy	242,455	JCURVE SOLUTIONS LTD	0.043	10,425.57	2,800,000
11/01/2018	Buy	57,545	JCURVE SOLUTIONS	0.043	2,474.44	2,557,545
15/12/2017	Buy	500,000	JCURVE SOLUTIONS	0.037	18,638.50	2,500,000
23/11/2017	Buy	500,000	JCURVE SOLUTIONS	0.037	22,290.50	2,000,000
2/11/2017	Buy		JCURVE SOLUTIONS			
18/10/2017	Buy	500,000	JCURVE SOLUTIONS	0.046	23,233.00	1,500,000
18/10/2017	Buy	500,000	LTD JCURVE SOLUTIONS	0.040	20,000.00	1,000,000
		500,000	LTD	0.040	20,000.00	500,000